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MODEL TEST ONE

1. Test Paper #

Part T Grammatical Structure and Vocabulary

Section A
Directions: Beneath each of the following sentences, there

are 4 choices marked A, B, C and D. Choose the
one that best completes the sentence. Mark your
answer on the ANSWER SHEET by blackening
the corresponding letter in the brackets. (5

points)

Example:

I have been to the Great Wall three times 1979.

A. from B. after C. for D. since

The sentence should read, “I have been to the Great Wall
three times since 1979. ” Therefore you should choose D.

Sample Answer
[Al[B][C][@]
— 5 —



1. On board, the young pioneer always offers his seat to
) __ needs it.
A. who B. whomever
C. whom D. whoever -

2. Nobody can fancy such rude remarks about the
— ﬁ_

pursuers.

A A. her passing B. shed pass

)

C. her to pass D. that she pass

3. The firm should make a substantial profit "/)
satisfactory labour relations are maintained.
A. despite that B. provided that
C. granted that D. seeing that

4, Tq the best dge, in this matter Bray seems

A. @ be in no way to blame

B. to in no way ‘l?e to be blamed
C. to be to blame in no way
D. to be to be in no way blamed

5. g . _» you might have retired before the end.
A. Didn’t you enjoy the opera
B. Have you not enjoyed the opera
C. Hadn’t you enjoyed the opera
D. Were you not to enjoyed the opera

6. Only when Robert realized /“! did he appreciate his
friends’ sacrifice.

—f —



L ABAC . CDPOpH
)

A. what had it cost him
B. that he had it cost
C. what it had cost him .
D. that it had cost him
7. In the factory, the contractor D‘ga his employees as
they worked.
A. should be supervised
B. should have supervised
C. should have been supervised
D. should have been supervising
8. A long line of traffic ( ﬁ:/ at the level crossing until
the train had passed.
A. would have waited ¥
B. should have waited *
C. had to wait
D. must have waited
9. None of us could agree on where to go on vacation, so we
went to different places, |}> .
A. Beijing to them and Shanghai to me
@ they to Beijing and I to Shanghai
C. Beijing for them and Shanghai for me ~
D. they for Beijing and I for Shanghat
10. Susanne had worked for three years to be a computer

-

A. discouraging and unsatisfied%

analyst but found her progress

B. discourage‘, and unsatisfactory



C. discouraging and dissatisfaction

D. unsatisfactory and discouraging

Section B
Directions: Each of the following. sentences has four

underlined parts marked A, B, C and D.
Identify the-part of the sentence that is incorrect
and mark your answer on the ANSWER SHEET
by blackening the corresponding letter in the
brackets. (5 points)

Example:

A number of foreign visitors were taken to the industrial

A B

exhibition which they saw many new products.
C D

Answer C is wrong because the sentence should resd, “A
number of foreign visitors were taken to the industrial
exhibition where they saw many new products. ” So you should
choose C.

Sample Answer

[A] [B] (@] [D]

11. The troubles of the U. S. nuclear industry did not
A v

discourage other countries 0 pursue their plans

B . C
_.8._



12.

13.

14.

15.

16

2ABAY> Dy A

for the atom,

D
Many a time he has given us good warning that we
A
should recognize the need for environmental protection
B

while we are concerned with the problem of the energy

C D
source.

The State’s educational policy has always been that
A . B
education has been combined with productive labour.

C D
Many women found that without an academic

A

background, they had neither the ability, nor access to
B

the policymaking that could help them raise the position
C D.

of their communities.

Neither of the two candidates who had applied for
A B

admission to the Industrial Association for Engineers

were fit for scholarships.
D

Jim had spent his vacation traveling in Arizona, visiting
A
some of the Indian reservations, and had finished several

C D
paintings that he had begun last year.




17.

18.

19.

20.

Obviously there was little probability that they
. A B

would succeed in the contest, but for they didn’t mind.

C
The Department of Fine Arts and Architecture
has been criticized for not having much required courses

A B

scheduled for this semester.

D

American baseball teams, once the only contenders for the

A B

world championship, are currently challenged by both
C D

Japanese teams and Chinese teams.

Like every other nation, the United States used to define
B

its unit of currency, the dollar, in the terms of the gold
C D

standard.

Section C
Directions: Beneath each of the following sentences, there

are 4 choices marked A, B, C and D. Choose the
one that best completes the sentence. Mark your
answer on the ANSWER SHEET by blackening
the corresponding letter in the brackets. (10
points)

Example ;



